PHYS-201 Equation Sheet for Final Exam
(10 June 2011, MAIN AUDITORIUM, 10:30 am - 12:30 pm)

Chapter 13: Periodic Motion
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Chapter 15: Mechanical Waves
Note that F'is a tension in a string.

y(z,t) = A cos(kx — wt)
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Chapter 16: Sound Waves
y(x,t) = A cos(kx — wt)
Pmax = BEA
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Electromagnetic Waves (Ch.32)
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Interference on Thin Films (Ch.35)
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2nt = (m + 5))\ 2nt = mA

Diffraction on a Single Slit or Circular Apertures (Chs.36)
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Diffraction—Interference on Double & Multiple Slits (Ch.36)

d = dsinOprighy = mA (m = 0,£1,+£2,...)
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Blackbody Radiation

P = gAeT? o =57x108Wm 2K
AmaeT = 2.898 x 107%m - K E, = nhf
e = 1 (emissivity of the blackbody) h = 6.626 x 10734J - 5
Photoelectric Effect
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Discrete Spectra of Atomic Gases: Rydberg Formula
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Bohr Model of the Hydrogen Atom
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Compton Effect; De Broglie Waves; Uncertainty Principle
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Particle in a Box; Schrodinger Equation; Tunneling
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Special Theory of Relativity
At o2\ 1/2 L
At = L — At L:Lp<1 ”—2> = 2
2 C PY
-5
(&
7 = v(x — vt) z = (2 + ot
y =y =y
2 =z z =2
VT va!
o - /
o Mo =V " uly, + v
Tl - Wy RS T
/!
Uy Uy
u, = - Uy = /
v(1 - ) 7 (1+ %)
/
/ Uz U,
u, = Uy, = ;
Tl - ) v (1+ %)
p= "2  _ ;i E—FEp+K
1 v
c2
Er = me? K = (y— 1)mc2
E = ymc? E? = p*c® + (mc?)



